
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(النسب المئوية للأعداد (عدد مفقود

________ × 60% = 27.6 ________ × 50% = 5.5

________ × 80% = 31.2 ________ × 10% = 3.5

________ × 30% = 13.8 ________ × 80% = 40

________ × 80% = 52 ________ × 70% = 23.1

________ × 80% = 36 ________ × 20% = 2.8

________ × 50% = 25 ________ × 70% = 47.6

________ × 40% = 32 ________ × 70% = 39.2

________ × 50% = 23 ________ × 90% = 24.3

________ × 10% = 2.7 ________ × 20% = 2

________ × 60% = 52.8 ________ × 10% = 1.7
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